
第１章§２補助プリント

(1) ∀xp(x) =⇒ ∃xp(x)

x : x1, x2, x3 のとき
∀xp(x) ⇐⇒ p(x1) & p(x2) & p(x3)

∃xp(x) ⇐⇒ p(x1) or p(x2) or p(x3)

p(x1) p(x2) p(x3) ∀xp(x) =⇒ ∃xp(x)
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(2) (∀xp(x)) or (∀xq(x)) =⇒ ∀x[p(x) or q(x)]

x : x1, x2 のとき
(∀xp(x)) or (∀xq(x)) ⇐⇒ (p(x1) & p(x2)) or (q(x1) & q(x2))

∀x[p(x) or q(x)] ⇐⇒ (p(x1) or q(x1)) & (p(x2) or q(x2))

p(x1) p(x2) q(x1) q(x2) (∀xp(x)) or (∀xq(x)) =⇒ ∀x[p(x) or q(x)]
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(3) ∀x[p(x) ⇒ q(x)] =⇒ (∀xp(x)) ⇒ (∀xq(x))

x : x1, x2 のとき
∀x[p(x) ⇒ q(x)] ⇐⇒ (p(x1) ⇒ q(x1)) & (p(x2) ⇒ q(x2))

(∀xp(x)) ⇒ (∀xq(x)) ⇐⇒ (p(x1) & p(x2)) ⇒ (q(x1) & q(x2))

p(x1) p(x2) q(x1) q(x2) ∀x[p(x) ⇒ q(x)] =⇒ (∀xp(x)) ⇒ (∀xq(x))
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(4) ∃x∀yp(x, y) =⇒ ∀y∃xp(x, y)

x : x1, x2, y : y1, y2 のとき
∃x∀yp(x, y) ⇐⇒ (∀yp(x1, y)) or (∀yp(x2, y))

∀y∃xp(x, y) ⇐⇒ (∃xp(x, y1)) & (∃xp(x, y2))

p(x1, y1) p(x1, y2) p(x2, y1) p(x2, y2) ∃x∀yp(x, y) =⇒ ∀y∃xp(x, y)
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